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1.- [8 POINTS] Write the words into the correct spaces:

	debris
	composed
	collision
	asteroid

	planets
	Ceres
	launched
	orbiting


In 1989 the spacecraft Galileo was ________________to study the atmosphere of Jupiter and its moons. One year later it entered the Asteroid Belt and came close to the _____________________ Gaspra.

Gaspra is a small asteroid about 19 km long. It is ___________________ of rock and metal typical of most of the many thousands of asteroids that are found ___________________the Sun in a wide belt between Jupiter and Mars. About 100 000 asteroids are large enough to be seen from the Earth. The largest is _________________, which is 800 km in diameter. Astronomers once thought that the asteroids may have formed from the ________________ of planets which shattered into small pieces. However, when added together, the mass of the asteroids is less than half size of our Moon. A more widely accepted idea is that they are _______________ left over after the formation of the ______________ billions of years ago. 


2.- [10 POINTS] If Mars is 228 million kilometres away from the Sun, 

a) How many minutes does sunlight take to reach it? (round your answer to one decimal place).

b) How many AU away from the Sun is Jupiter?
3.- [12 POINTS] Match the correct letter with the description.

	A. rotation
	B. apparent path
	C. craters
	D. away from

	E. waxing
	F. universe
	G. toward
	H. spring tide

	I. neap tide
	J. asteroids
	K. waning
	L. solar eclipse


1. The Sun seems to rise in the east and travel west on its _________________.

2. In a hemisphere’s summer, that hemisphere is tilted _______________ the Sun and receives the Sun’s rays more directly; in winter, that hemisphere is tilted_______________  the Sun and receives the Sun’s rays at a lower angle.

3. I consist of Earth, the planets, the stars, and all of space. What am I? _______________

4. I am one complete spin of Earth on its axis. What am I?______________

5. Bowl-shaped depressions on the Moon’s surface are ____________________ that were formed by impacts from space objects.

6. During the ____________ phases, you see more and more of the lighted side of the Moon; during the ___________ phases, you see less and less of its lighted side.

7. When the Sun, Earth, and the Moon are all in a line, a(n) _____________ occurs.
8. When the gravitational pulls of the Sun and the Moon are perpendicular, a(n) ________________ occurs.

9. _____________ an event that occurs when Earth passes through the Moon’s shadow
10. Between the orbits of Mars and Jupiter are orbiting rocky or metallic objects called _______________.

4.-  [10 POINTS] Planet questions.

a) Which is the largest planet?

b) Which planet completes a full orbit faster?

c) Which planet has a surface rich in iron oxide?

d) Which planet has the most easily visible ring system?

e) Which planet has a satellite named Europa?

f) Which planet has an atmosphere rich in carbon dioxide?

g) Which planet shows indications of having contained liquid water in the past?

h) Which planet is 1 AU away from the Sun?

i) Which is the largest rocky planet?

j) Which is the smallest gaseous planet?

TOTAL SCORE: 40 POINTS
SOLUCIÓNS:

1.- [8 POINTS]Write the words into the correct spaces:

	debris
	composed
	collision
	asteroid

	planets
	Ceres
	launched
	orbiting


In 1989 the spacecraft Galileo was ________________to study the atmosphere of Jupiter and its moons. One year later it entered the Asteroid Belt and came close to the _____________________ Gaspra.

Gaspra is a small asteroid about 19 km long. It is ___________________ of rock and metal typical of most of the many thousands of asteroids that are found ___________________the Sun in a wide belt between Jupiter and Mars. About 100 000 asteroids are large enough to be seen from the Earth. The largest is _________________, which is 800 km in diameter. Astronomers once thought that the asteroids may have formed from the ________________ of planets which shattered into small pieces. However, when added together, the mass of the asteroids is less than half size of our Moon. A more widely accepted idea is that they are _______________ left over after the formation of the ______________ billions of years ago. 


SOLUCIÓN:

In 1989 the spacecraft Galileo was launched to study the atmosphere of Jupiter and its moons. One year laterit entered the Asteroid Belt and came close to the asteroid Gaspra.

Graspra is a small asteroid about 19 km long. It is composed of rock and metal typical of most of the many thousands of asteorids that are found orbiting the Sun in a wide belt between Jupiter and Mars. About 100 000 asteroids are large enough to be seen from the Earth. The largest is Ceres, wich is 800 km in diameter. Astronomers once thought that the asteroids may have formed from the collision of planets wich shattered into small pieces. However, when added together, the mass of the asteroids is less than half size of our Moon. A more widely accepted idea is that they are debris left over after the formation of the planets billions of years ago. 


2.- [10 POINTS]If Mars is 228 million kilometres away from the Sun, 

a) how many minutes does sunlight take to reach it? (round your answer to one decimal place).

b) How many AU away from the Sun is Jupiter?
SOLUCIÓNS: 

a) 12,66 min = 760 s .

b) A 1,52 u.a.
3.- [12 POINTS]Match the correct letter with the description.

	M. rotation
	N. apparent path
	O. craters
	P. away from

	Q. waxing
	R. universe
	S. toward
	T. spring tide

	U. spring tide
	V. asteroids
	W. waning
	X. solar eclipse


a) The Sun seems to rise in the east and travel west on its apparent path .

b) In a hemisphere’s summer, that hemisphere is tilted toward the Sun and receives the Sun’s rays more directly; in winter, that hemisphere is tilted away from  the Sun and receives the Sun’s rays at a lower angle.

c) I consist of Earth, the planets, the stars, and all of space. What am I? universe 
d) I am one complete spin of Earth on its axis. What am I? rotation
e) Bowl-shaped depressions on the Moon’s surface are craters that were formed by impacts from space objects.

f) During the waxing phases, you see more and more of the lighted side of the Moon; during the waning phases, you see less and less of its lighted side.

g) When the Sun, Earth, and the Moon are all in a line, a(n) spring tide occurs.
h) When the gravitational pulls of the Sun and the Moon are perpendicular, a(n) spring tide occurs.


i) solar eclipse an event that occurs when Earth passes through the Moon’s shadow
j) Between the orbits of Mars and Jupiter are orbiting rocky or metallic objects called asteroids .

4.-  [10 POINTS]Planet questions.

a) Which is the largest planet?

b) Which planet completes a full orbit faster?

c) Which planet has a surface rich in iron oxide?

d) Which planet has the most easily visible ring system?

e) Which planet has a satellite named Europa?

f) Which planet has an atmosphere rich in carbon dioxide?

g) Which planet shows indications of having contained liquid water in the past?

h) Which planet is 1 AU away from the Sun?

i) Which is the largest rocky planet?

j) Which is the smallest gaseous planet?

SOLUCIÓNS: 

a) ¿Cuál es el más grande de los planetas? (Júpiter)

b) ¿Qué planeta completa una órbita más rápidamente? (Mercurio)

c) ¿Qué planeta tiene una superficie rica en óxidos de hierro? (Marte)

d) ¿Qué planeta tiene el sistema de anillos más vistoso? (Saturno)

e) ¿Qué planeta tiene un satélite denominado Europa? (Júpiter)

f) ¿Qué planeta tiene una atmósfera muy rica en dióxido de carbono? (Venus)

g) ¿Qué planeta presenta indicios de haber contenido agua líquida en el pasado? (Marte)

h) ¿Qué planeta se sitúa a 1 u.a. del Sol? (Tierra)

i) ¿Cuál es el planeta más grande de los planetas rocosos? (Tierra)

j) ¿Cuál es el planeta más pequeño de los planetas gaseosos? (Neptuno)



TOTAL SCORE: 40 POINTS
